Multiplication de Deux Trinomes (G)

Simplifiez chaque expression.

1. (97"5 + 4t — 27’3)(77"5 — 8t — 7"3)

2. (=5z* — 52+ 9)(72* — 92 + 6)

3. (32° — 5a* — 8x)(2* — 2x — 5)

L (Yt 4 5y° — 5y) (4y” — 5y® + 3y)

C(=TKY 6K 4 9K (= 3Kt 4 3k — TE?)

Ot

6. (5% + 2t% — Tt) (4t + 4t* — 61)

7 (=5¢" +8¢° — ¢*)(—9¢" — ¢’ + 3¢%)

8. (—6h* — 2h — 8)(8h* + 5h* + 6h)

0. (=8¢" —q—4)(¢* +q+4)

10. (=5¢% — 4¢® — 9¢)(—=9¢° + 8¢* + 3¢%)
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Multiplication de Deux Trinomes (G) Réponses

Simplifiez chaque expression.

1. (9705 + 4t — 27’3)(7r5 — &t — r?’)
— 63r1" — 447° — 5578 + 1277 4+ 2¢°

2. (=5z* — 52+ 9)(72* — 92 + 6)
= 3520+ 102° + 7822 — 1112 + 54

3. (32% — 52? — 856)([132‘— 2r —5)
— 32° — 112* — 132 + 412 + 40z

4 (49" + 5y° = 5y*)(4y° — 5y” + 3y)
= 16y" — 33y° + 40y* — 15¢°

(@

(=Tk* + 6K 4 9K (—3K* 4 3k — TK?)
= 21k% — 39k + 40k°® — 15k° — 63K*

6. (5% 4 2t% — Tt) (4t + 4t* — 61)
— 2015 + 28t° — 50t* — 40t + 42¢>

7. (=5¢" +8¢° — ¢*)(—9¢" — ¢’ + 3¢°)
— 45¢° — 67¢" — 14¢° + 25¢° — 3¢*

8. (—6h? — 2h — 8)(8h> + 5h* + 6h)
— —48h° — 46h* — 110Rh> — 52h> — 48h

0. (=8¢° —q = 4)(¢* + g +4)
= —8¢* — 9¢° — 37¢° — 8¢ — 16

10. (=5¢* — 4¢* — 9¢)(—9¢° + 8¢* + 3¢>)
= 45¢% — 4¢" + 34¢° — 84¢° — 27¢*
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